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1 fﬂtj;iz Eiﬁf 100 f:_]ggl 2000 kg | 3.370 ke 5990 1880 2570
2 ,;Z/t S E(ftgo ;25?6 3650 kg | 4170 ke 54400 22100 2490
3 ﬁ?g;%g;j;;é:ﬁi E?f;;go @%}97 3950 kg | 3930 ke 5780, 2230 2420
4 m%;gzr;j;;éjﬂﬁ Eiﬁgg %L;q%o; 3900 kg | 3960 kg 59000 2190 2410
5 %‘%ﬁﬁg;f‘;;;mﬁ E?f;!q%o @gf‘ 3900 kg | 3,960 ke 5800 2210|2420
6 ﬂ%é&%g;f;;;mﬁ Ei(ﬁi}z‘;;@go 7;;&8)12 3600 kg | 4200 kg 5870  2.230] 2400
7 i;j,;if\ E?ﬁ 100 320)1 81 3000 kg | 4830 ke 8150, 2240 3020
8 i;?;i:’\ E?ﬁ;;@%O @ég)gs 2550 kg | 5310 ke 8160 2270|3050
9 ifj;if\ EgFO EK?O?)% 2700 kg | 5160 kg 8170 2230 3100
0] 10 t:if;;:f_ﬁ Ezﬁﬁ 100 E48)36 10900 kg | 10980 ke 1034 2490 3270
11 i;?;ii Eiﬁgpo_o %ngy 1900 kg | 5980 ke 818 224 306
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EEREYINEEREDRICHT 2EREICHRIEEHEAREOEARR (5716 F 7 B 23 HRE)

EMEOHH R L AL A% (B
LREAH 11 (100.0% )
DI 12 FREEHHARE Bk 0 ( 0.0%)
QIR 12 FEEEHHHRE  Bhk 0 ( 0.0%)
QFAL 12 FEEEHHHRE WAL 0 ( 0.0%)
DF 12 FEEBEPMBEHT 4 —EILE Kok 0 C 0.0%)
OF A 12 FREBEPMPET + —LLE Ak 0 ( 0.0%)
®FH 16 FHHES 0 ( 0.0%)
QFR 17 EREPHA R AE0hERE Akk 0 ( 0.0%)
@Ff 17 EREHE S 2+ TEhERE  AAkk 0 ( 0.0%)
@Fff 17 FHREPM-I0%ERERE 0 ( 0.0%)
OF 5 17 FHRENOX+I0%ERERE  # 0 ( 0.0%)
B QA 7 FRENOX - PN IOBERERT 2 ( 20.0%)
2 |eTsissnmEa® 0 ( 00%)
B |ewmn o sanme 0 ( 0.0%)
D |@FA 19 ERAEGH S RHB0RERE  AAK 0 ( 00%)
N BT 10 FRAES IR TOGERE A tekA 0 ( 0.0%)
4 |eEmo0 emmsan 0 00%)
2 o2 smmEan 0 ( 0.0%)
B |@wmer smENO AT I0RERE 0 C 0.0%)
F @21 AR AR SORERE | AAk 0 ( 0.0%)
QTR 21 EHEAPEH R +TEREME Ak K 0 ( 0.0%)
DAL 22 FHRGHEE 2 ( 20.0%)
@ Y 22 FEEHE NOX - PM+10%:ZE M E 2 ( 20.0%)
DT 28 ERHES 1 10.0%)
@ T 30 ERHES 0 ( 0.0%)
2 AL 30 FEHEH H A EHE+25%:F R E PAASe 0 ¢ 0.0%)
T 30 FHM A REELEONERE Ak K 0 ( 0.0%)
@D AL 30 FEHEH H R EHE+T5UERE YA de ok 0 C 0.0%)
UESEH A R EOBA B

SEH




2. EERZEYINEEREORICHT ZEREICRZEMREEOEARR (HF16F 7 8 23 HEMD)

EMRE OMRBIER L NI A% (BlH)
2REEH 11 (100.0% )
TR 1T EERBEEERE OEFEmE 0 ( 0.0%)

@+10%ERE 0 ( 0.0%)
TR 22 FERBEAEERE Q= 0 ( 0.0%)
@+5%ZME 0 ( 0.0%)
O©+10%EME 0 ( 0.0%)
®+15%FEME 0 ( 0.0%)
@D+20%E &= 0 ( 0.0%)
®+25%F M= 0 ( 0.0%)
(©-+38%EME 0 ( 0.0%)
(0+50%3E i &= 0 ( 0.0%)
T 2T FERBEEERE OEp = 7 (63.6%)
+5%:ZEME 1 9.0%)
4+ 10%EME 0 ( 0.0%)
D+ 15%FEME 0 ( 0.0%)
©®+20%E = 0 ( 0.0%)
10+ 25%ZE 2 0 ( 0.0%)
(D+35%FEME 0 ( 0.0%)
S 2 FEREELEZNE @®EME 0 ( 0.0%)
(9+20%EmM = 0 ( 0.0%)
@+40%EME 0 ( 0.0%)
2)+50%ZEME 0 ( 0.0%)
20 +90%:ZEME 0 ( 0.0%)
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